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& (W) “Tre auwroge osmatic pressure. of blood s 1 odm af 25°C.
whhat is He molardy of afucoss (CuHrOW thot will be. isotonic,

with hlood ?
M= HRT
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& (12) What is He smostic pressure at 20°C. of o 0020

suerose. solution (CizHezzOn)?
e aof,
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& (13) A sample. of 2.059 of polystyrene. of uniform polymur
Jnoin Lngth wass dissolued in encugh toluene. to form 0.100L-

of solution. The osmatic pressore of Hhis solution was
foond to ke 1.21kfo af z5ee,. Calevlate he molar mass of

e polystyrene. s mass .
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